SWHHREZ 2 X bR

[E$RER] A=76.12x 2. 85=216.94m?2
O£E :L=76.12m. 1 : W=1.98m. & : H=2.85m

(4%5%8R] A=17.79+17.89+12.55+9. 32=57. 55m?2
O1KHE (K :L=15.28m. Hif& : L=15.85m. 1E : W=0.81m. & & : H=0.39m)
A=15.85x 0. 39+ (15. 85+12. 83) /2 x 0. 81
=17.79m?2
O2KH (ZE :L=11.84m., HiE : L=12.83m. 1& : W=0. 75m. & & : H=0. 73m)
A=12.83x0. 73+ (12. 83+9.91) /2 x 0. 75
=17.89m?2
O3KE (BE :L=9.34m., #IE : L=9.91Tm, 1§ : W=0. 71Tm. & : H=0.67m)
A=9.91x0.67+ (9.91+6. 76) /2 x 0. 71
=12.55m?2
O4H (BE :L=6.57m. B : L=6.76m. 1&g : W=0. 72m. & : H=0.67m)
A=6.76 x 0. 67+ (6. 76+6. 57) /2 x 0. 72
=9. 32m?2
(E#5]
A=15.28x0.39+12.84 x0. 73+9. 34 x0. 67+6. 57 x 0. 67
=25.99m?2
€I
A=216.944-57. 55—25. 99
=248.5m?2



